e
H9E Sr AR FIf

. X & SA02020000
Supporting Arm for Round Pole Type F1 (46100300)
|
I B W— _'___
1025
P 100
| - —

(@) 4 ! | e}
Sl |kx | 5| ~

1 Id| o

(@]
2 Fan Y .
210 765 @a@ 9
®17.5/
D=350 M REE:18.62 kg
B B & 4 HE ® B " &

1 B AKX 1 S$5400 L75%X75%9

2 A EE 1 $5400 t9

3 AN 15| 55400 FB100 X 6

4 NAERILL-FIk 45 | SS400 M16 X 90 X 75

5 (Lt £ 4 SUS304 M16

294



e
H9E T wAEE F2RS-FI-HT1R

Supporting Arm for Round Pole Type F2:-F1-HT1

[X]#& SA02030000

(461004)

1630
| P _
| Sl | £ N
| . | AN | O
! (&
| 765 765 f 9
2-917.5
D=350 R EE:24.23 ke

i B ® % HE # B " &

1 fi s AR 1 $S400 L75x 75% 9

2 | AomEER 2 SS400 t9

3 AWIN 15 | SS400 FB100 X 6

4 | RARILL-FUb 45 | S$S400 M16 x 90 x 75

5 EhEE 4 | SUS304 M16

295




i e

3
Supporting Arm for Surge Arrester 5(84%%2)12‘;%%?0
980 BiEF

30 360 2—917.5 110, | 30

(9]

| %)

Y — ) ——
| =
2—913.5

HEEE 750 ke

980 EBE
301,110 2—917.5 360 30
wn
NS |
g ———— - ———— &
K |
N
2—$13.5
HWOFEE 750 kg
—#H
1540
301,110 2—917.5 360 4—913.5 110, |30
| 3
4 — - — - — - — - —-——-$—-
! 3
HMOEE:1180 ke
o 0} om A o= # H " &
1 B AR 1 $5400 L65%x65x% 8

296



Hyﬁ% A

S

A5 R

S A

. . e e a & SA05010250
Supporting Arm for High Voltage Distribution
pporting £ £ (46003900)
0 4-917.5 /GD /CZ
P,B H | | | |+
L(-) [T L d L d &
~ 230 720 750 750 50
N
2500

w0 50, 360, 440 750 750 150
~
N

| | & -+ + + 1
2 5_617.5
5 - HOFEE 2388 ke
0 5-917.5 /® /@
~
MY
" 1 | + | | + | |+ -+
~! 50 750 750 750 750 50
M)

3100
0 150 750 470 _, 360, 470 750 150
P,(\j 1 |
s T + -+ k3 &
~ \6—917.5
" R EE:2960ke
~
N
& ¥ + ] = 1 = + +
~! 50 750 750 750 750 750 50
M
3850
0 150 750 470 _, 360, 470 750 750 150
¢ [ !
L(-) T L 4 -+ -+ rY
~ \7-917.5
- HREE:3677 ke
o B & A H= # H " &

1 B AKX 1 STKR400 O75% 75 x t4.5
2 | = 2 | SPHC

297



Bk (BTEFARA) ne-—nmen

Supporting Arm for Round Pole General Type B, .
High—speed Rail “Shinkansen (461006)

[X]# SA02110000

4
5 |
o —— el
<o}
2120
10,150
(@]
L0, =y T -
E N Lt B ' 3
) [@)] [@®)
[qV] -——(:) M
S ’ h 217.5
heg ’ 2 ’ :
. | 600
9 ’ $17.5
——
| 1820 215
D=350 H R EE :42.60 kg
o 0} om A #H= ® B " &
1 [Tk NN 1 SS400 [125%X65%X6
2 A EE 1 $5400 t9
3 A EE 1 $5400 t9
4 AN 15| 55400 FB125 %6
5 NARI ST ILF vk 45 | SS400 M16 X 90 X 75
6 NAERILL-FIk 15| 3400 M16 % 35
7 (Lt £ 4 SUS304 M16




BisE (BTEFARAH) an-—mmern

Supporting Arm for Round Pole General Type BF, 5 X SA02120000
High—speed Rail “Shinkansen (461010)

3
@\ \470
Wy
(o]
2120
10,150 @i
O
L0, L | i
JE S R I . B
T 1 O
‘ N
= .
I ‘ 2
g ‘ $17.5
| 1820 215
D=350 H R EE:42.00 kg
o B & 4 #H= ® B " &
1 B AR 1 55400 [125 %65 %6
2 A EE 1 $5400 19
3 AN 15| 55400 FB125 %6
4 NARI ST ILF vk 45 | SS400 M16 X 90 X 75
5 NAERILL-FIk 15| 3400 M16 % 35
6 (Lt £ 4 SUS304 M16




BisE (BTEFHRA)  an-—mmeon

Supporting Arm for Round Pole General Type BG, 5 X & SA03080000
High—speed Rail = Shinkansen (461053)

2120

50 _ 325

1430 \
\7Q

s

~

(@)

10,150

™
125

O
<
e
D=350 H R EE:62.83 ke
o B & 4 HE ® B " &
1 B &AM 1 SS400 [125X65%X6
2 Gl &K 1 SS400 L75% 75% 9
3 | aomEER 1 SS400 t9
4 | AomEER 1 SS400 t9
5 AWIN 15 | SS400 FB125% 6
6 | IomEE 1 SS400 t9
7 | fEER 1 $S400 6
8 | RARILMEITILFyb 45 | S$S400 M16 x 90 x 75
9 | RARILLFIb 15 | S$S400 M16 x 35
10 | [FamEsE 4 | SUS304 M16




Bk (BTEFARA) an-mmeen

Supporting Arm for Round Pole General Type BP, 5 X SA02130000
High—speed Rail “Shinkansen (461012)

850

(@]
| N
, Iag ! Iy
Ye) | .:+ +: Tp)
™~ | Q0
25 1o
[ 1
O O
N M)
H vy
217.5
9 600 215
D=350 M REE:17.92 kg
o B & 4 #H= ® B " &
1 B AKX 1 S$5400 L75%X75%9
2 A EE 1 $5400 t9
3 AN 15| 55400 FB125 %6
4 NARI ST ILF vk 45 | SS400 M16 X 90 X 75
5 (Lt £ 4 SUS304 M16

301



Hgﬁﬁ (%ﬁﬁ?%ﬁﬁﬁ ) HHE—HA BVGH

Supporting Arm for Round Pole General Type BYG, 5 (X2 SA02140000
High—speed Rail “Shinkansen (461042)

50| _ 325

\70

M RBEAOL 4T ER

1430 i
=
~
@)

10,150 150,
L
F RS 3 RN
o~ —+ o~
s ‘ $17.5 ¢17.5> % ¢17.5
@D/ 820 820 400 600
' (705) (705) " (515)
905 1820 215
(790)
D=350 L REE:74.07 kg
o B ® % HE ® B " &
1 fi < AR 4K 1 $S400 [125x65%X6
2 Gl &K 1 SS400 L75% 75% 9
3 | aomEER 2 SS400 t9
4 | AomEER 1 SS400 t9
5 AWIN 15 | SS400 FB125% 6
6 | IomEE 1 SS400 t9
7 | fEER 1 $S400 6
8 | RARILMEITILFyb 45 | S$S400 M16 x 90 x 75
9 | RARILLFIb 25 | $5400 M16 x 35
10 | [FamEsE 4 | SUS304 M16




BisE (BTEFIRA) an-wmon

Supporting Arm for Round Pole General Type G, 5 X SA02190000
High—speed Rail “Shinkansen (461045)

2Q 525

1430

125
oy
feted

D=350 L RE=:2824 kg

o B ® % HE # B " &
1 fi s AR 1 $S400 L75%x 75% 9
2 | AomEER 1 SS400 t9
3 AWIN 15 | SS400 FB125% 6
4 | wEeE 1 $S400 6
5 | RARILMETILFyb 45 | S$S400 M16 x 90 x 75
6 EhEE 45 | SUS304 M16




BisE (BTEFIRAH) ovare—sm

Supporting Arm for GW Fixed Beam, 5 5 [X]# SA01150000
High—speed Rail =~ Shinkansen (46000100)

200
50 (10
(< 1
|
i o
T © 2—-¢17.5
FanY
\®17.5
O
O <o)
M
<
22
1
119 A
10
Q
fe]
M
A /\ \/‘\
\/\ \/\
$21.5
£ . i .
W)
M
40| |35
HMOEE:1583 ke
S B & 4 H=E ® B " &
1 B AKX 1 S$5400 L75%X75%9
2 *ER 15| 55400




BisE (BTEFIRA) sn-wmon

Supporting Arm for Steel Truss Pipe General, 5 X SA01160000
High—speed Rail =~ Shinkansen
’&
I
J' o
4 —ig
]
I(.((% - - |— -
2120
, ®
10,15Q M\J| ’ | ’
| |
+ 9 [+ ——
| (@)
| 3l I
§ ‘ 9175 | | | | |
. 2
e ‘ 317.5 600
1820
HMOEE:3307 ke
B B & 4 HE ® B " &
1 B AKX 1 $5400 [125 %65 %6
2 A EE 1 $5400 t9
3 A EE 1 $5400 t9
4 NAERILL-FIk 15| 3400 M16 % 35
5 NAERILL-FIk 25 | $S400 M16 % 40
6 (Lt £ 1 SUS304 M16




Hyﬁ sMv G3f2

. SA02200000
Supporting Arm Type G3 S
375
50 325
— I —— ]
|
i A : 0
AR i ®
N |
~ K g
GWHIE y '
5
! Q
o5
_T Te]
2 |
o . =
= ’ M
N~
1 . ~—
0 B __*__dit_
| N 5 ]I
O ] i O !
= ) ) A :'_ﬁ
. . | B2 i
2 otel <1
30 65| B0
125
D=2163 B R EE:4182 ke
B B & 4 #H= ® B " &
1 B ARIRA 1 S$5400 L75%X75%9
2 B ARIAB 1 S$5400 L75%X75%9
3 EXEIAI 15| 3400 t9
4 A EE 1 $5400 t9
5 ANAERILE-FUE 15| 55400 M16 x 60, WN,SW,ID

306



i 2 Bi & (B3R A) ne—nmecn

Steel Pipe Supporting Arm forRound Pole General Type BG, %] SA03090000
High—speed Rail “Hokuriku Shlnkansen (461054)

125
1390

|
10150 i |
) |

SR 3

400
\12(
()]
o
=/
D

3 "\p17.5
‘ $17.5
1820
| D=350 B REE:57.20 kg
o B ® % = ¥ B " &

1 F-PBig A 1 STK400 ®101.6 X15.7
2 | GEEARIA 1 STK400 }76.3xt4.2
3 | AUEE F 1 $S400 t9
4 | AoReBE P 1 $S400 t9
5 | A& E G 1 $S400 t9
6 AWIN 15 | SS400 FB125% 6
7 | fEEARA 1 $S400 6
8 | #HiRiRB 1 $S400 t6
9 | RARILMEITILFyb 4 | SS400 M20 x 100 X 85
10 | [FamEsE 4 | SS400 M20
11 | #ERPDAILEFVE 4 | SUS304 M20

307



Hyﬁﬁ AJORY B Fr B E

Supporting Arm for Air Joint Connecting & (89%?1_)%??39%1)

$42.7
25
90 |

\M \@ @/ 350 5

1650
1825
D=350 E REE:1223 kg
i B & 4 = # B " &
1 AWIN 15 | SS400 FB75 X 6
2 | FL—k 2 | SS400 FB75%6
3 | FL—+k 1 SS400 t6
4 | a7 1 STK400 b 42.7xt3.5
5 | aomEE 1 SS400 t6
6 | NARILLFUb 25 | $5400 M16 x 90 x 75

308



<5

Supporting Arm, Cross Arm for GW

MERI1RA

[X]# SRO1190000
(90150617-4)

SV o%ETR 375
(=) 10_], 80
o)
i N
T N
! ”
325
i $17.5 :i
= Lo
] ¢76.3 - |
1 ||
‘ AJ—— I‘ —I«A,
| sl
| P
r VA
SR -V
/\ g |
v\ B I N /
9|o
150
A-A' K18 |
e8|l
- N
\ L \
ANV as \,
VAR I N
Q1O
B B & 4 #H= ® B " &
1 FX7S 1 STK400 b 76.3%xt4.2
2 yJ 4 $5400 6
3 IR 2 S$5400 FB150 % 9
4 yJ 4 $5400 6
5 yJ 8 $5400 6
6 A EE 1 $5400 t9
7 NAERILL-FIk 45 | SS400 M20 X 90 X 75

309



Hjﬁﬁ H#RSIA MERER

Steel Pipe Supporting Arm X & SR01180000
for Right and Left Use of Pull-off Fitting (90160521-12)
[ve]
N
-------- T =
+ g1
LLA | ANT ] f9]
T 16 o~
/@ 1000
00 618
38
o .
R S AR N S
@18

D=350 H RE=:12.88 ke

i B ® % = # B " &
1 Ek:IAWIN 15 | SS400 FB100 % 6
2 | s 1 STK400 ©$60.5%t3.8
3 | BiftEE 2 | SS400 FB50 X 6
4 | ER 2 SS400 t4.5 X 25 X 70
5 | a8 2 | SS400 FB38 x 16
6 | NARILLFUb 45 | S$S400 M16 X 90 X 75 SW




Hyﬁﬁ IRIENATH HER

Steel Pipe Supporting Arm for Registration Arm Bd# SA02210000

«©
T —— F— H—r——
®) 2T I I ]
S ¢ h-—— _}_______%L' R I i
. KT " 38 6
o o~
«©
©
653
153 400 100 16

35

D=350 M RE=:10.78 ke

i B ® % = # B " &
1 Ek:IAWIN 15 | SS400 FB100 % 6
2 | s 1 STK400 ©$60.5%t3.8
3 | BiftEE 2 | SS400 FB50 X 6
4 | ER 2 SS400 t4.5 X 25 X 70
5 | a8 1 SS400 FB38 x 16
6 | NARILLFUb 45 | S$S400 M16 X 90 X 75 SW

311



S| G BE sum

Anchor Supporting Arm for Steel Truss Pole

[X]#& SA99010000

2—918X 28

60
25)_
817.5
}_
@QS
L
h B & 4 HqE B " &
AKX 1 S$5400 L75%X75%9
=ZARILEFTILF Uk 25 | $S400 M16
BYE> 2 | SUS304 b4 %40




Hyﬁﬁ rRIILATIR

. X & SA06010000
Supporting Arm Type T1 for Tunnel (460050)
ZOEAIER
(ig=. mEEH)
L ] ] | | | | Py Al Q
—————— ST s e —
~t
[@)
<

BASEHHE
— 75
40 . 35
38 0 40
I~
1 Ly i | .
1Y, %_ _
 J 7 © 1
R VL R =t
S ! s
7& @)
-
‘ 95 all 51 |9
130

HREE:16.00ke

o B ® % HE # B " &
1 fi s AR 1 $S400 L75%x 75% 9
2 | B8 2 | SS400
3 | aomEER 2 SS400 t9
4 | avFRILE-Fuk 25 | $5400 M16 x 105 x 30,SP
5 | $ARILE-Fuk 35 | SS400 M16 X 70 X 55,SW.SP




.
Hgﬂf FERATPH(R-L)
. ] X & SA06020000,SA06030000
Supporting Arm Type TP (R-L) for Drop Arm (460051) (460052)

75 4—918 BBS. EFAKT

75
55,40
T
|
O
|
|
¢
.
|
|

40 100 100
(@]
)
™~
<+
o
HWOFEE:538ke
S B & 4 H=E B " &
1 B AKX 1 S$5400 L75%X75%9

314



PCH TR canwn

Cross Arm Steel Pipe Frame Shape for 1 Line Feeder

[X]# SR01430000
(90150416-6)

i

WENIRIAT

W=1300

H=1150

(623)

150 15o\®

D=267.4 M EE 3362 kg

i B & 4 HE # B " &
1 M 1 STK400 }76.3xt4.2
2 | BHAUR 25 | $5400 t9
3 | aomEER 1 SS400 t6




<5

ZEHRIBER JARILLR

Cross Arm for 1 Line Feeder Type J Bolt

[X]#& SR01440000
(90150114-29)

1500
710 710
40 350, © 40 159
j»#—#i FIrEsrs KX x4
b- -
| (@]
1 1 | m
3 H o |
© ‘/’/// \\\\*
o) N\ s18 ©
4 Y ~
3 o/ \eo
l / oL o~ \|(
L 6 - 320 3
¢ 18X28
470
159
iPo
(@]
| (@]
| Te]
|
7// N
‘/ \\\‘ 9
/// \\\\ <
&/ ¢
e
E 450 ? &
530
S 0} om A H= ® B " &
1 =S IIpi i 4 SS400 L75x75%9
2 =S IIpi i 2 SS400 L75x75%9
3 =S IIpi i 2 SS400 L150X90% 9
4 | $AR 2 SS400 t9
5 AR—HY— 2 S$5400 t9
6 A EE 1 $5400 t9
7 SR 2 S$5400 t9
8 TvHRILE-Fuk 85 | 3400 M16 SW. 2N
9 NAERILL-FIk 145 | SS400 M16 x 60 ID
10 | RARILLFIb 125 | $S400 M16 x50 ID

316




b<¢r9 EERIRA

Cross Arm for 1 Line Feeder | # SA08010000

1240
1400
210 50 210
| = =
. % ¢]]

-€
41
(&
e | {‘l’
hdl

==
s

870
©

660 | 660 @ I (D

o el /®

Wkl 1SN 286
18%x 28
30 490 30
550

HMREE:8113 ke

i B & 4 = % B " &
1 b2 =3 25 | SS400 L75% 75% 9
2 B 15| SS400 L75% 75% 9
3 E—LEftEE 15 | SS400 L75%X 75% 9
4 | HEyrIL—FA 2 SS400 t6
5 | HevrIL—FB 2 SS400 t6
6 | IomEE 1 SS400
7 | RARILL-FUb 165 | SS400 M16 x 45
8 | RARILL-FIb 125 | SS400 M16 x 40

317



b <¢ 15 SEM2RA

Cross Arm for 2 lines Feeder

%] SA08020000

2240
2390
210 1000 210
+ % ez
rd 4
M W W ®\ ”
Q\q’ 8 [ ]
= R 1|3
@M
| 3
|: :| © Mg
[q\!
¥ by i
Jam i TaaN 286
18X 28
30 490 30
550
MO EE:101.80 kg
RIS B om A = ® B " &
1 b2 3 25 | 88400 L75x75%9
2 T 15 | $S400 L75x75%9
3 F—LEfA£E 15| 55400 L75%x75%9
4 AT L—kA 2 $5400 t6
5 HtevyhTL—B 2 $5400 t6
6 A EE 2 $5400
7 NAERILL-FIk 185 | $S400 M16 % 45
8 NAERILL-FIk 125 | $S400 M16 % 40

318



P GW ST AR sen s

Cross Arm GW Steel Pipe Frame Shape for 1 Line Feeder

[X]# SR01420000
(90160502-5)

L (1214.25)

W (1300)
w/2 w/2

N, Y W

124

H (1150)

| I\

150 150\\@

i B & 4 HE # B " &
1 M 1 STK400 }76.3xt4.2
2 | BHAUR 25 | $5400 t9
3 | aomEER 1 SS400 t6




ﬁ*ﬁ‘_’ *i TR

[X]# SV0119P000

Extension Steel Truss Pole (511031)

35
(@]
_ < ’
{ 8- 18
< & | <]
o 1
S |
2 1
rE T =
L S
] .
I o ]
Q : 1
o ]
r | ! | -7
o |1* 19
| ’ |
\ , |
D=350 & R EE:50.00 kg
B = ® B " &
1 KK 15| 55400 L75%x75%9
2 ER = TAWIN 2% | $5400 D27
3 R4 1 S$5400 L50 X 50 X 6
4 NAERILL-FIk 25 | $S400 M16 % 40




SUNEER

[X]#& SA0702P000

Tongue Fitting (461059)

3—917.5

/ 6% 9

)]
25
l

23

171

100

6 MEEE 062ke t9 MG ER:092 ke
® B " &
1 Ao ER 1 SS400

Bno
B
ok
Bno
i
b2
il




Iv)7 LR

[X]# ST11010000

Hook Bolt (48101601)

25

55

(mm)
wWRT7UTIL] A B |HRE=E
L50x50x6 90 | 10 | 0.26 kg
L65x65x8 120 | 12 | 031 ke
L75x75x9 120 | 12 | 031 kg
L90x90x10 | 140 | 13 | 0.34 ke

i B & 4 HE # B " &
1 9oLk 1 SS400 b 16
2 NATFTYE 1 SS400 M16 1F&
3 | RAFIL 1 $S400 M16 3f&
4 EhEE 1 SUS304 M16

322



=ARILL za

Triangle Bolt [ 2 ST01030000
(48001603)
// N\
O
| N\,
! %3} L
<] N i
| N,
. \\
- | \.
216 N
| \ 7
]
n =
\!J el
/ SN
M16 A
(mm)
FE$E | A B S |BlREE
L50A | 68 | 110 0.38 kg
L65A | 83 | 125 0.43 kg
L75F | 93 | 135 | 42 | 047 kg
L90A | 108 | 150 0.53 kg
L100F8| 118 | 160 0.57 kg
RIS 0} om A o= ® B " &
1 =Z/AaRILE 1 S$5400 b16
2 NAETFTVk 2 $5400 Mi16 1F&
3 NETVE 2 S$5400 M16 3F&
4 (Lt £ 2 SUS304 M16

323



=AEE s
X & ST01150000

Triangle Fitting (93130912-1)

A

(@]
M~
(@]
[@)]
L0,
]
€]
50
A B C |ERhE=
L50 | 68 | 505 | 7 | 0.27ke
L65 | 83 | 635 | 10 | 0.28 kg
L75 | 93 | 735 | 10 | 0.28 kg
o B & 4 H=E ® B " &
1 WzEE 1 55400 FB50 X 6
2 RILL-ETILF bk 15| 3400 M16 X 90 X 65
3 NARI ST ILF vk 15| 3400 M16 X 70 X 55
4 (Lt £ 2 SUS304 M16

324



:lﬂ%fl:% 17558

[X]# SV01050000

Square U Shape Fitting for Square 75 (511007)

|
|
50

$17.5

118

25

77

HWEEE:072ke
% B " &
1 aRIEY 1 SS400 FB50 X 6

Eo
B
ok
Eo
i
b2
il

325



:@?l \\)lxl‘ 0755

[X]# SV01060000

Square U Bolt for Square 75 (511008)

120

55

93

2
HEEE:048 ke
i B & 4 HE # B " &
1 aDFRILE 1 SS400
2 | Fubk 2 | SS400 M16 17&
3 EhEE 2 SUS304 M16

326



7“/71 \\)lxl‘ M16

& ST11020000
Hook Bolt M16 (48101605)
M16
|
@\_‘? =
@\ 0
fe]
2
4
A
|
|
l
yEREIE
N
RIS 0} om A #H= ® B " &
1 TvomILk 1 S$5400 M16
2 NAEFU1FE 1 $5400
3 NAEFUk IFE 1 $5400
4 (Lt £ 1 SUS304
5 | BlEY 1 SUS304 b4 %40

3217



